
«Линейные однородные дифференциальные уравнения порядка  n » 

 

1)  022  yyyy ,    1)0( y ,  6)0( y ,  4)0( y . 

Ответ:  xxx eCeCeCy 2
321   ,   xxx eeey 222   . 

 

2)  0 yy .  Ответ: xCCeCy x
321   . 

 

3)  08126  yyyy .  Ответ: )( 2
321

2 xCxCCey x  . 

 

4)  08  yy .  

Ответ: )3sin3cos( 32
2

1 xCxCeeCy xx   . 

 

5)  0582)4(  yyyy .  

Ответ: )2sin2cos()( 4321 xCxCexCCey xx   . 

 

6)  0910)4(  yyy .  

Ответ: xCxCxCxCy 3sin3cossincos 4321  . 

 

7)  022)4()5(  yyyyyy . 

Ответ: xxCCxxCCeCy x sin)(cos)( 54321   . 

 

8)  03)2(3)2( 2  yyxyx . Ответ: )2(
)2(

23

1 


 xC
x

C
y . 

 

9)  yyx  22 . Ответ: 3
321 ln xCxCCy  . 

 

10)  0)1(ln2  yyxyxx ,   xy 1 .  

Ответ: xCxCy 21 ln   

 


